7 =8 dwF TEAUH (42 2571 =)

Etel: M2, &, %, $/kg

= 27} 200744 7a{=d) 20074 78 (=) susEd) | szsEA) | SsHEA)
=9 = =9 sz | 39| s=| 39| 5= | 20064 | 2007
A 1,196,771 229,487 7,896,883 1,569,428 3.4 4.6 3.0 2.0 4.98 5.03
1 S 262,028 40,8201 1,662,488 276,971 0.3|] -6.3] -0.5| -7.2 5.60 6.00
2 o|= 155,337 28,584 1,043,917 213,341 -11.3 | -4.4| -12.3| -2.8 5.43 4.89
3 H| E = 88,893 12,711 588,112 81,9071 34.0| 36.0] 16.6 9.4 6.73 7.18
4 =23 76,429 12,443 530,756 84,169 57 111 10.7 9.9 6.26 6.31
5 2l = Alo} 64,358 9,432 451,687 66,7651 —-2.0 2.0 7.6 8.3 6.81 6.77
6 2= 48,704 7,881 386,223 56,602] -5.3 401 -0.7 1.3 6.96 6.82
7 OfEfollo|2|E Ast 31,105 5,659] 201,800 36,273 12.9 | 27.2 3.3 6.4 5.73 5.56
8 At Clot2te| ot 25,896 4,452 164,533 28,057 3.6 2.3 2.0 1.6 5.84 5.86
9 = 26,598 5,219] 161,834 39,9521 28.8 241 35.2| 31.3 3.93 4.05
10 el 25,772 4,995 153,428 31,2131 -9.6 7.2 -11.9 1.0 5.63 4.92
11 B 7| 25,980 4,525 152,226 29,0771 39.9 791 18.9] -7.0 4.09 5.24
12 | 2 et 14,916 2,306 122,682 18,535] -44.4 | -47.3 | -26.7 | =31.9 6.15 6.62
13 e 18,688 1,964 112,907 13,796] 46.7 | 10.1 55.0 | 62.0 8.56 8.18
14 =2at 19,272 4,007 108,308 24,7200 124.8 | 73.7) 61.2| 25.7 3.42 4.38
15 O|Erz| ot 14,355 2,346 102,379 241911 12.9| -0.8) 14.8| 23.8 4.56 4.23
16 Id= 15,552 3,713 92,652 24,266] 28.0| 59.4| 19.4| 15.7 3.70 3.82
17 Z = ot 13,173 5,187 91,361 37,1901 34.6 | 17.8] 47.3| 13.1 1.89 2.46
18 Bl = 11,936 2,612 90,725 20,171 0.2 8.9 6.6 17.8 4.97 4.50
19 B{Alof ed &t 11,464 3,777 82,243 25,9011 -5.5| -19.6 7.3 3.7 3.07 3.18
20 2 2l 14,212 2,685 76,906 19,723] 55.4| 374 24.8| 11.5 3.48 3.90
21 HA| = 11,213 2,874 74,063 18,989 11.4 | 12.2 2.8 -2.5 3.70 3.90
22 =2t Al 7,849 1,594 73,064 12,2050 -12.7| -0.9] -15.6 | -15.5 5.99 5.99
23 c ot 9,799 2,095 72,010 16,645] —23.2 | -28.4 | -15.3 | -22.2 3.97 4.33
24 Zttet 12,115 2,282 71,079 14,246 3.7 -1.5] -8.6[-20.2 4.36 4.99
25 elC|of(el &) 10,654 4,778 69,141 29,4211 -6.8 1.6] -4.0] -8.9 2.23 2.35




o 20074 78 (2hg) 2007 78 (+H) SUE(8E) SHE(A) FAeIHEA)
o o 29 =3 29 =3 2% | sz | 3o | =z | 20064 | 2007¢
S 745,227 | 116,886 4,788,978 | 820,523 19.2 9.6] 12.5 6.8 5.54 5.84
1 33 443,323 68,712] 2,927,432 | 469,145 32.3| 20.4| 18.7| 125 5.91 6.24
2 o|Etzlo} 64,109 709 291,045 4,386 183.9| -22.4| 10.0| -245| 4555 | 66.36
3 e 41,052 5,295 250,152 36,282 83| -1.8] 1.5 4.6 7.11 6.89
4 el = Alot 22,658 7,586 157,218 55,884 -0.5 0.6] 5.9 7.5 2.86 2.81
5 elC|ok(2lx) 16,714 4,825 138,562 44,603 | -16.0| -20.4]-14.8| -14.6 3.12 3.11
6 ol = 22,709 2,520) 136,251 16,472 13.0| 12.0] 49| 153 9.10 8.27
7 H| £ 20,611 6,614 128,744 41,186 39.9| 32.6| 341 | 288 3.00 3.13
8 o gt 13,619 5,572 101,512 45,998 9.4 23] 47 3.8 2.19 2.21
9 Ef = 9,355 2,238 70,524 18,154 | -17.8| -19.4] -9.2| -4.9 4.07 3.88
10 7| A g 8,997 4,013 63,281 28,956 | -21.1| -24.3|-16.3| -18.0 2.14 2.19
11 YA 8,370 98 56,796 893 | -26.4| -13.7]-14.2 9.6] 81.20 | 683.60
12 = 6,803 597 45,524 4,184 85| 14.4] 103 5.6] 10.41 10.88
13 ke 7,524 593 42,759 3,924 -0.9| -38.1] -8.3| -34.0 7.84 | 10.90
14 AEZ|o} 6,397 2,257 39,524 13,902 27.8| 30.4]| 309 | 276 2.77 2.84
15 £Z2 4,974 114 30,092 1,096 | -21.1| -88.3|-18.9| -23.4| 24.41 27.46
16 22 o x| of 3,294 956 26,188 7,372 75| 59| 1.7| -17.8 2.87 3.55
17 E{ 7| 4,445 267 24,643 1,506 -3.2| -1.0] 10.0 3.2] 15.36 | 16.36
18 Ugzt= 3,042 286 23,219 1,694 | -27.1 40] 19.7] 383.9| 1583 | 13.71
19 7totct 2,556 461 16,584 2,732 18.7| 10.8] 0.3 2.3 6.19 6.07
20 ge|g 3,161 258 16,457 1,350 59.5| 37.7] 76.1| 51.9] 10.52 | 12.19
21 M A2 1,392 56 14,269 777 53.0| -38.9] 252| -9.3] 13.29 | 18.36
22 o|Qko} 1,252 145 13,628 1,069 | -22.0| 383.9] 723| 555] 11.50 | 12.75
23 A9 A 3,256 45 13,418 199 6.9| -405]-12.4| -59.5) 38119 | 67.37
24 3 1,342 139] 11,183 1,011 22.4| 174.9| 19.6| 18.7] 10.97 | 11.06
25 Yotz 1,187 95 10,794 987 | -20.2| -56.5] -17.5]| -43.3 7.51 10.93




